
Answer key

PQ HUNT EXAM-1

1. a) ]Xn-‰p-]Øv
2. c) Icn-h-≈q¿ kacw
3. b) Ph-l¿em¬ s\lvdp
4. d) k_¿ΩXn
5. a) {io\-K¿
6. b) KpP-dmØv
7. c) tZiob Pe-]mX 3
8. b) Ic-°m‰v
9. b) 73
10. c) HUoj
11. d) t{]mt´w kv]o°¿
12. c) 6
13. b) _m¶v Hm^v _tdmU
14. a) \mfn-tIcw
15. d) sslZ-cm-_mZv
16. b) DZ-bv]q¿
17. a) s_m°mtdm
18. c) 8
19. d) 1947 Pqsse 22
20. b) lntÃm-fPn
21. a) Im’yw
22. c) ssh‰-an≥  B3

23. b) Xncp-h√
24. c) Icƒ
25. b) enKvss\‰v
26. a) ssU\mtam
27. b) 4 Cc´n
28. c) 1 an√o-_m¿
29. a) Keo-entbm
30. c) auenI Ah-Im-i-ßƒ
31. a) Ab¨ HmIvsskUv
32. d) s{]mln-_n-j≥
33. b) Pap\
34. a) 1973
35. c) tUm.-]¬]p
36. a) HIvtSm-_¿ 10
37. c) _w•m-tZiv
38. a) ag-hn√v
39. c) at\m-l¿ em¬ L´¿
40. b) Z£n-Wm-{^n°
41. d) taLm-eb
42. a) Znbp
43. d) apt m-fn\n
44. b) sXßv
45. c) B¿.-sh-¶-´-cm-a≥
46. a) Fkv.-F.-t_mw_vtU
47. b) sIm®n
48. b) F≥.-•m-U¨
49. a) CSp°n

50. a) At m-kn-tb‰v {] v
51. b) hnZpjn
52. b) petrol is highly inflammable

53. c) Imbw-Ipfw hmƒ
54. d) ]¿∆Xw
55. a) ae+-Bfw
56. b) Ir{Xnaw
57. c) Zpcm-Nmcw
58. a) PmKcw
59. c) Nca hm¿Ø Adn-bn-°m≥ Ah≥ Hmtcm hoSp-

  tXmdpw Ib-dn-bn-d-ßn.
60.  c) Ba
61. b) the

62. a) lack

63. a) is to blame

(Either ........ or sIm≠v c≠v subjects s\ _‘n-
∏n-®m¬ 2˛masØ   subject \v A\p-k-cn®v verb

Fgp-X-Ww)
64. b) patricide

65. d) posse

66. d) did they

(Few h∂-Xn-\m¬ sentence negative. AXn-\m¬
tag positive. (came - did +come)

67. c) choreography

68. c) worse

Comparative degree + than

69. d) spinster

70. c) make out

Make out - to understand /manage

71. b) started

‘Last day/week/month/year’ simple past tense s\
kqNn-∏n-°p∂p   (S+V

2
+O)

72. d) of

73. c) who

(who + V/Aux verb)

74. a) were

Main clause ¬  would + V
1
 h∂m¬  If clause

¬  V
2

75. d) fan the flame of

76. b) A doll was bought for the baby.

tNmZ-y-Ønse ‘bought’ past BWv. past tence

s\ passive  B°p-tºmƒ was/were + v3

77. d) goes

often ‘simple present’  s‚ time word BWv S+V1

78. a) He will say that he is not well

Reporting word say h∂m¬  past tense tebv°v am‰≠
79. a) have been

80. d) large



Maths Explanation

81.  d) 490) 490) 490) 490) 490
kwJy   = x
x ×30/100 = 210
        x  = 210 × 100
                30
           = 700

              700 × 70/100  = 490

82.  d) 25) 25) 25) 25) 25
M

1
D

1    
= M

2
D

2

5 × 10 = 2  × D
2

  D
2 
   = 5 × 10

           2

       = 25
83. b) 9:12:20) 9:12:20) 9:12:20) 9:12:20) 9:12:20

 A      B      C
                  3  :  4
                        3  :  5
                  9  :  12  :  20

84. b) 2550) 2550) 2550) 2550) 2550
BZy n Cc´ kwJ-y-I-fpsS XpI = n(n+1)
n(n+1) = 50(50+1)
        = 50 × 51
        = 2550

85. a) 107.8) 107.8) 107.8) 107.8) 107.8
30 ×105 = 3150
20 ×112 = 2240
BsI 50 Ip´n-I-fpsS ̀ mcw = 3150 + 2240

       = 5390
50 t]cpsS icm-icn `mcw = 5390/50

       = 107.8

86. c) 52) 52) 52) 52) 52
]eni XΩnse hy-X-ymkw , I
  = P

1
N

1
R

1
   

 -
    P

2
N

2
R

2

                                 100              100
 = 400×12×13  --˛ -400×13×11
       100          100
= 624- ˛ 572
= 52

87. a) ) ) ) ) 22222/3/3/3/3/3
  20 ÷ 30+(7×20-˛2)-˛69×2}
= 20 ÷30+(140˛2)˛69×2}
= 20 ÷30+138˛138}
= 20 ÷30+0}
= 20/30   = 2/3

88. b)4:304:304:304:304:30
bYm¿∞ kabw
=11 : 60 -˛ 7 : 30
= 4 : 30

89. c)100)100)100)100)10000000

30 hr - 11/2 min
= 30 × 7-- ˛11/2 × 20
= 210-- --˛110
= 1000

 90. b) 50%) 50%) 50%) 50%) 50%
     FÆw           XpI
       2                 1
       4                 3

                        4                 6
               em`w  = 6 -˛ 4 = 2
        em`-i-X-am\w = 2  ×100 =50%
                         4

91. b) 5) 5) 5) 5) 5
I¿Æw = √]mZw2 +ew_w2

                   = √42 + 32

                   = √16 + 9
                   = √25
                   = 5 In.an
92. b) 1000) 1000) 1000) 1000) 1000
              (10000)0.75

= (10000)3/4
= (104)3/4

= 103

= 1000
93.  c) 24) 24) 24) 24) 24

12-- ˛1  = 0
22˛ 2 = 2
32˛ 1 = 8
42˛ 2 = 14
52˛ 1 = 24
62˛ 2 = 34

94. d) 1) 1) 1) 1) 1
x-8 × x8

= x-8+8

= x0

= 1
95.  b) Xn¶ƒ

1984 A[n-h¿j-amWv
1984 P\p-hcn 1      →  Rmb¿

          ∴ 1984 Unkw-_¿ 31 →  Xn¶ƒ
           31.12.1984 →  Xn¶ƒ

96.  a) 96
      x + y  = 20 -

      x - y  = 4

                 2y = 16

                   y = 8

x-y = 4

x-8 = 4

   x = 4+8 =1

KpW-\-^ew
     = 8 × 12

     = 96

    7 km

3km

11km4km

3km

97. d) 50
        5  =  50   = 50

            .1     1

98. d) 55
99. d) 9.328

100. b) 264cm2

                        = 1/2 h( a+b)

                       = 1/2 × 12(15+29)

                       = 1/2× 12×44  = 264cm2

am × an = am+n

a0 =1


